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1. You get energy by eating food. T
example of-
(4) Physical chango  (B) Chermical change
(€) Nuclear chango (D) Atomic change

avsver[]

2 A student is performing experiment in|
Iaboratary in which he is handling chemicals.
Which one of the following procedures hel
should use for safety?

(A) Ho should closo the door of b,

(B) Ho should woar proper clothes.

(€) He must perform tho experiment under thel
supervision of teacher.

(D) Ho can perform the experiment without

oy msseur,
(8) Noneoftheso Ansver[]

(E) None of these:

REF/i0S'10/AGH

3. A food pipe exists between mouth and the
Stomach, which takes the food from mouth to
stomach, Whatis this food pipe called?

() Trachea
(8) Epiglotis
(C) Ocsophagus
(D) Omentum

(5) Nono of these

forva [

3 Which of the folowing contrls the balance
and movement and determines How the body
muscles wark ogether?

(8) Cerebellum
() Cercbrum
(C) Madulla oblongata
(0) Allof these

(E) None of these.

Answer ]
[ st |




[image: image2.jpg]5. The fllowing graphic shows the human heart.
[Wha s the name of the structure marked with

‘question mark?

(4) Right atrium
(€) Left ventricle.

(E) None of theso

(®) Vena cava
(D) Right ventriclo

Ao ]

. The function of kidney is to remove waste and
excess fluid from the blood. A normal healthy

person has two Kidneys. What will happen if

ome o the o kidneys Is removed?

(A) The person will dio

(B) The person needs dialysis machine to

(€) TThe person will continue to live a nomal
lifo

(D) Excess uroa will get accumulated in the

body of the person
(E) Nono of theso

Amwrr[T]

7. Themicroorganisms having one cell are called

10, When something deliciaus is cooked in our

Kitchen wo smell it and can imagine its taste.
How is It possiblo?

(4) Sertse of smell and taste are linked

(B) Nose and tongue are close to each other.
(C) Smell itself shows taste

(D) All of these.

(E) Nono of these.

sver[S]

1

‘Al is a mixture of gases such s carbon,
oxygen, nitrogen, etc. What s the percentage
of oxygen in the air?
W20 B)21%
(E) None of theso.

(©25% (D)23%

Answie[]

12

‘What kind of force does the stretched rubber
band hs?

(4) Balance force
(©) Tension force

(£) Nono of these

(B) Unbalanced force.
(D) Al resistance force.

e []

13, Force 1s cqual to mass multiplied by

acceleration. 1€ an object has 10m/s
acceleration and force applied is 55N then
what would be s mass?

©)55k8

(A)skg  (B)aks (C)6kg
Ao ]

14, You are holding a

(E) None of these
tone in your hand. Wh

Kind of energy docs the stono have?

(A) Potential enorgy ~ (B) Kinetic enorgy

(©) Simple cnergy (D) Allof these

@) Umicellolar  (3) Multcellular (E) Nons of these Answer[]

() Singlacalled * (D) Alloftheso e

Il e Aoseer] | 3 ot () ot et the

stomach and the anus.
5. Which one of the following joints allows

movement in all dicections? 2. Stomatch(B) Are paired organs

(A) Ball and socket joint 3. Intestine (C) Digests food

(®) Pivot joint 3 Lungs (D) Ia hollow, muscular organ.

(C) Hinge joint () 1h2caedd  (B) 1d203cib

(D) Gliding joint (€) 1-d (D) 1-a2-b3dd-c

(E) None of these. Answer[] (B) 1-0.2:63 Answer[[]
6. 1 have rough texture. | am campused ofsilica

9. Lam the part of eye. I can be of different

colours. 1 have a small opening in the center.
Who am 17

(A) Pupil

(©) Sclera

(E) None of these.
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®) Iris
(D) Choroid

Answer[]

and quartz particles and small amount of

clayey soil. Who am 17

(8) Clayeysoll  (8) Sandysoil

(©) Loamysoil (D) Peatysoil

() None of these Answer[]
REFTOS0/AGH




[image: image3.jpg]7. Which one of the following layers Is suitsble
for the lying of an acroplano as no weather
phenomena takes place n this layer?

(8) Troposphere () Stratosphere
(€) Mesosphere (D) Exospher.
(E) None of these Answer[]

18. Kidney removes wasto products from our body.
Whataro e waste products tha are removed
by kidney?

(4) Urea and water

(B) Carbon dioxido and water
(©) Uroa and salts

) Urea, water and salts

(E) Nono of these.

Ansver[]

10. & spuces of catlivig in  same azea il be
called

(&) Ecosystem
(©) Commaunity.
(8) Nono of theso

(8) Biosphero
(D) Population

e[

20. Which one of the following olements of
biological organization does the above graphic
depict?

() Biosphere
(€) Community.

(E) Noue of these.

(B) Ecosystem
(D) Population

Answer[]

21 Which one of the following depicts the
relationship between cell and organ?
(4) Tyreand car  (B) Brick and house
(€) Lightand bulb (D) Mouseand keyboard

(5) None of these Answer[]

. Aman tries 0 push a wall with a force of 10N,
‘The work done by the man on the wall is....
(A) 10Joulos (B) 1 Joules
©o (D) 100 oules

(E) None of these Answer[]

REF/i0S'10/AGM

23, smple maching s vey usfol n doy o day
life, Which ane of the following is an cxample
of simple machine?

(A] Computer
(©) Screw
(E) None of these.

(B) Train
(D) Automobile
Answer

24. Match the followi

1. The unique planot ®) Mars

2. Planetnearesttothesun ~ (B)  Morcury

3. Thestarinthe solar system (C)  Earth

4. Rod planet © Sun
@) 3b,4a (B) 14,2, 34, 4c

(C) 1-c,2b, 3-d, 4-a (D) 1-, 2d, b, 4-c.
() Noneoftheso Ansar (]

croorganisms are our eend and fo. Some
of thom are useul for s eheress soe o
Harmiul From th iveniis srtout kel nd
harmtul scions of actes
Groaingood,spoling ood. dscomposition, rolo i
carbon and nitrogen cycle, sickness.

(A) Useful: Creating food, decomposition,
Harmful: Spoiling food, role in carbon and
nitrogen cyti,sckniss

0 Uil Crsting o, decomporton, ol
in carbon and nitrogen cycle. Harmful:
Spatlingfood sicknees

(€) Usful: Creating food, role in carbon and
nitrogen cycle. Harmful: Spoiling food,
Sickntss, dicorposion.

(D) sl Cretin food, ol n carbon and
iteogen cycle; Spoting foad. Harmul:

Sckodss, docompontion.
Answer[]

(E) Nono of these.
26 foints in our body alow the movement of our
ody part. Our skull has fibrous joint still we
arc unable (o move our skull. Why?
(A) Thisjointis fixed and allows no movement,
(B) This joint is decply attached and allows no
movement.
() This joint is firmly held by connecting
tissues and allows o movement

(D) All of these.
Answar ]

(E) None of these.
27. You must have noticed that during extremely.
hotor cold season mosquitoes and other nsects
vanishes all of a sudden. What force them to
disappear?
() Unavatlability of food
(B) Unavailability of water
(C) Harsh climate (D) All of these

(E) Non of these. Answar]

25




[image: image4.jpg]28, You keep the waterbotle i tho refgarator
Bl ot ho e hlo 1. But i you Koo
fiem Toin tho ragser seitbin fevw Hours 1t
Change ol Why it changes o 687
&) Bocaus o the ooling capacty o ez
(8] Bocaus o hetemperate vaiation
{0 Bocause lsmperatutetouches rezing pont

it 24
(D) Bocause tomperaturstonches rezing pont

that is 0°C
(51 Noneof these Ky [51]

20, Examine the following statements:
Statement A: Polar ico s melting slowly. This
activity increases the sea lovel.

Statement B: Gases in the atmosphere release
heal energy from tho sun.

Which one of the following is correct with regard

o the above statements?

() Only Statemeat A fs correct.

(B) Only Statement B is correct.

(C) Both Statement A and Statement B are
correct.

(D) Both Statement A and Statoment B aro
incorroct.

(E) Both Statbmont A and Statoment B aro par
comect. Answer|

30: Various human activities, such as burning of
coal, create more greenhouse gases in the
atmosphero which contribules 10 increase
slobal warming. Which one of the following
Bases is a greenhouse gas?

(A) Nitrous oxide  (B) Ozone.
(©) Watervapor (D) Allof these
(8) Nons of thes Answwes|

(€) Hydroolectric onergy
D) Solar enersy

(E) None of these

34 Given below aro some charactrisics of

(4) They do ot respire.

(B) They are mad up ofacetic acid.

(G) They reproduce by nvading a cell.

(D) They aro considered as non lving thing.
‘Which one of the above mentioned characterstics

incarroctin relation (o viruses?
oD

A A (B)B ©c
) None o these Answar[]

Answer

35, Which one of the following diseases is caused

(A) Hopatitis-B (B) Cholera
(©) Malaria (D) Elophantiasis.
Answer

(E) None of these

30, Consider the following two statements:-
Statement A: Vehicular pollution is one of the
‘main causes of air pollution.

Statement B: All living organisms are
rosponsible for spoling tho environment.

‘Which of the following is correct with respect to

the above statements?

(4) Statoment A is correct
(8) Statoment B s correct
(C) Both, Statement A and Statement B are.

31, Enen

(A) Nonrencable eneisy
(B) Fossil fucls

(C) Ronowable onergy.
(0) Natural gas

(E) None of theso

i)

32, Nonronewable enorgy supply cannot bo
replaced a5 quickly as i is used. The main
disadvantages of nonrenewable energy are?
(&) Itdistusbs wildlifo.

(B) it contributos to the formation of acid rain.
(C) It contributes to global warming.

(D) Allof these.
(E) None of theso

|

55, Which one of the Tollowing onergles is
Senacae oy th ineLc e o soving
water? This kind of energy is renewable,
Ronpolatng and ecen

(4) Chemical encrgy (B) Wind energy
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ey
(D) Both, Statement A and Statement B are
it
(E) Both, Statement A and Statement B are
part chrect: Answor[]
37, In which part of our body there is a pivot joint?
(A) Neck (B) Forearms
(C) Elbow (D) Both A and B
(E) None of these. Answer |

38, Which one of thefollawing sense organs helps
S oeling the pain caused by busning?

(A) Eyes  (B)Ear (C)Nose (D)Skin
(6) Non of thso o]

59, Which one ofthe following is the most fcile
soil?
(8) Clayey soil
(C) Sily soil
(E) None of these

(8) Loamy soil
(D) Poaty sail
Answar]

30, Tho dungerous wltraviolet rays from the sun
are ‘stopped in the upper part of the
Hmosphere; Which Iager of the atmosphers
rovides a shiod for s from lteavioletrays?

{A) Stratosphore.  (8) Hydrosphere
(©) Ozona layer - (D) Excsphere
() None of these Answer[]
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